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(x=2) 2243 (x—-2) x—10 (x - 2) E JFEAHL o, T}-& F 2157}
g5 Qe g BT 12w?
H7]
Q@ x-2 © x+5 © x+2
® x-5 ® (x-2)° ® (x+5)
D Q@ 9,66 3)9,0, @
® Q0,66 ® oo

2
A

X — =
(£4)

A & 2| %stH

= Ax? + 3Ax — 10A

= A(x* 4+ 3x - 10)
=A(x+5)(x-2)

= (x=2)(x+5)(x-2)
= (x-2)%(x +5)
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4. (a+b)(a+b+3)+2E JAFEF

® (a-b+1)(a-b+2) @(a+b+1)(a+b+2)
® (a-b+1)(a+b+2) @ (a-b-1)(a—b-2)

® (a+b-1)(a+b-2)

B

a+b=A 2 2%5IH

(F4) =A(A+3)+2
=A2+3A+2
=(A+1)(A+2)
=(@+b+1)(a+b+2)




5.

(a=b-2c)(a-b+5c)—30c? & AFEolstH?

® (a-b+3c)(a—b-"Tc)
@(a—b—5c)(a—b+8c‘)
® (a-b-2c)(a-b+4c)

B

@ (a-b+4c)(a—b+5c)

@ (a—b+5c)(a—b-8c)

a-b=t2 =0,
(a=b-2c)(a—-b+5c) - 30c?
= (t—2¢)(t + 5¢) — 30c?

= 12 + 3ct - 40¢?

= (t—5¢)(t+ 8¢)
=(a—b-5¢c)(a-b+8)




x-y=A & A8stH
(x=y)(x-y+6)+9=A(A+6)+9
=A%+6A+9
=(A+3)°
= (x—y+3)°
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8.  (2a-3b)% - (4a - 5b)% = 4(ma + nb)(b - pa) L W, mn - p ] G
ToHH?

O -11 ® 13 @—13 @ 11 ® -2

B ,

2a-3b =X, da—5b = Y & X|3Fs}w
X2-Y2=(X+Y)(X-Y)

= (2a — 3b + 4a — 5b)(2a — 3b — 4a + 5b)
= (6a — 8b)(—2a + 2b)

= 4(3a —4b)(b - a)

om=3, n=-4, p=1

T mn—p=-12-1=-13
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rot

(2x - 1)* = (x +2)* & ALESEHA (3x +a) (x + b) 7F Aok D
o m, a — b o] = F5HH?

® -1 @ 3 @0 @ 2 ©) I

B

2x—1=A, x+2 = BE X|3s}H
(2x-1)% - (x+2)?
=A%2-B>=(A+B)(A-B)
=(2x-1+x+2)(2x—1-x-2)
=Bx+1)(x-3)

La=1,b=-3
La-b=1+3=4




10, x(x+1)(x+2)(x+3)+1 = 1423l sh= 2Adolet. () gtoll S0
Alo] 4] 92 A0

x(x+1D)x+2)(x+3)+1
=x(@O)x (x+1)(@)+1
=(x*+3x)(®) +1

(@) =Ag}sHH

A2 42A4+1=(A+1)2=(®)?

@ x+3 @ x+2 ® x24+3x+2
@x2+3 ® x2+3x+1

@ x2 + 3x




D)-16 @ -4 ® 2 @ 8

® 12

x*+8x=A 2t otH

(x> +8x+T7)(x2 +8x+15)—p
=(A+7)(A+15)-p

= A2+ 22A+105-p= (A +11)2
2105 - p =121

sop=-16




12, ohg Ao] SRAABAY W, 4% a o GOz %

rlo

x+1)(x+3)(x+5)(x+7)+a

Ch "
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> Het: a=16

B

(F=A) =x+1) (x+7) (x+3)(x+5)+a
= (x2+8x+7) (x2—|—8x+ 15)—|-a
x*+8x=A = Z|2sH
(FA) =(A+T7)(A+15) +a
=A% +22A+105+a
= (A+11)% = (x +8x + 11)°
112 =105+a
a=16




13. 4xy—2x-2y+1 2 APl (ax+b) (cy+d) D ™, a+b+c+d
o] gk& Fstd?

0 @ ® 3 @ 4 ® 6

dxy—2x—-2y+1=2x(2y—-1) - (2y-1)
— (2e-1)@2y-1)
La+b+c+d=2-1+2-1=2
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Tlo
tlo
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= Rt

@® ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)2+a)

@ -y +2x+2y=(x-y)(x—y+2)
@)+ 2 +x+1= (2 +1)(x+1)
@xty-1)-20-1) = (x-2)(y-1)




15. oA 16 — 4x? 4 4xy — y? = Q12olistH?

O d-x+y)d-2x+y) @ 4+2x-y)d-x-y)
® d-2x+y)(4+2x+y) @(4+2x—y)(4—2x+y)

® (d+2x+y)(4-2x-y)

42— (2x-y)?=4+2x-y)(4-2x+y)




16. 22— 2w+ 2 —y? & A5 afoHA?

O (x+y+2)(x-y+2) @ (x+y+2)(x-y-2)
® (x-y+z)(x-y-2) @ (x+y-z)(x—-y+2z)

@ +y-2)(x-y-2)

-2z +2 -y =(x-z7)>%-)2
=(x-z+y) (x-z-y)




17. 16x*-81y* = (Ax*+By?)(Cx+Dy)(Ex+Fy) 22l & W, A+ B+C+
D+E+F o #& Fstof=t (2 A, B, C, D, E, F £ 7%°Ith)

> E

> ®™et: 17

16x* — 81yt = (4x% + 9y?)(2x + 3y)(2x — 3y) ©|B2 A+ B +
C+D+E+F=4+94+2+3+2-3=17°|ch




18. kA axt - 5x + 1.2 U] A9 ARpA ] GO Q1% BafHct ]
Mo} Q4] of e

D 2x+1 @ 2x-1 @Gx

@ 6x+1 ® 4x-2

(4x?-1)(x?-1)=(2x+1)(2x—1)(x + 1)(x— 1)
(A ) =24+ 1420 -1+ x+14+x-1
= 6x




19. 2+ 3xy—x-6y-2 5 A3l ot¥ (x - 2)(ax + by + ¢) ©|Th.
a+b+c o gt= TorefEt
> E

> & a+b+c=5

B ~

x? + 3xy —x — 6y — 25 x°f Tl FlstH
x4+ By-1)x-23y+1) = (x—2)(x+3y+1)
ca=1,b=3,c=1

“a+b+c=5




20.

O|ZFA] x2 — Bxy + 2y + 4x — 5y + 3 & AR FFATY (ax -y +
b)(x+cy—d) 7t FATk ©He F 2L AL TEW?
®a+b=3 @ b+c=2 @ c+d=1

@a+c:—1 ® b+d=-3

B

x4+ (4-3y)x+2y*-5y+3
=2+ (4-3)x+ (2y-3)(y-1)
=(x-2y+3)(x-y+1)
ca=1,b=1¢c=-2,d=-3
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282 — 11 N

25X 17-17%x12

O 12 @ 9 ® 6

@)3

(28 4+11)(28 —11)  39x17
(25-12)x17  13x17




sl &A= o83t tha 4] gt& Fstolt

52 - 62 + 72 - 8% + 92 — 10

>
> 3

B

(=

Al
Al

[
[= B}

B 45

) = (5% -6%) + (7 - 8%) + (9 - 10°)
=(5+6)(5-6)+ (7+8)(7-38)
+ (9 +10) (9 - 10)
=-11-15-19
= —45




23. a=2V2-4, b=3+ V2 W, a® - 4ab + 4b* 2] Fr-& 35}t
=1

>
> = 100

B

a® — 4ab + 4b* = (a — 2b)?
= {2v2-4-23+ VD))’
=(2V2-4-6-2V2)?
= (-10)2 = 100




24. x= 3+ VL y=V2- V3 LU, x2-y? o] kS Fotelal,
=

>
[> Heh: 46

B

-y =(x+y)(x-y)
= (V3+ V2+ V2- V3)
(VB+ V2- 2+ VB)

=2V2x2v3
=46




25. Fgqa, boll Hstel. a?b+ab? =12, a® +b° =28 A W], a2 + b2 9
A2 ot

> E:

> He: 10

B \

a’*b + ab* = ab(a + b) = 12

a® +b® = (a+b)® - 3ab(a + b) = 28
a+b=X, ab=Y = *|gs}HA

XY =12, X3 -3XY =28

L X=4Y=3

watA @2 4 b% = X2 - 2Y = 16 - 6 = 10 ©|c}.




26. ax—by=2V3+3, bx—ay=2V3-3 4 W, (a®-b*)(x* -y?) 9
e Tatolz,

cCt "
| —

| 2
> ®EH: 2443

B *

a® - b?)(x2 —?)

— a%x2 — )2 — 222 + b%y?

= (a®x? - 2abxy + b?y?) — (a®y? - 2abxy + b*x?)
= (ax = by)? = (ay - bx)?

=(2V3+3)2 - (-2V3+3)?

=243




27. a-b=129 1, 4% - 8a+ b% + 8b - 2ab + 16 9] FHE Fo}HAH?

@® 36 @64 ® 49 @ 16 ® 25

B

a* —8a + b* + 8b - 2ab + 16
=a’® - 2ab + b* + —8a + 8b + 16
= (a-b)?>-8(a-b)+ 16
=(a—b-4)?

=64




28.

3a2b — 3ab? — Ta%b?

—b = 3ab %
a=b =3ab AW = T
a#b)
> B
> w2
9

B

o] k& Fstoiet. (2, ab # 0,

_ab(3a—3b—Tab)

(a—b)*
ab{3(a—b)—Tab}

_ab (QaI(Ja——7lc)l)b)

~ (3ab)?
_ 2a°b? 2

T 9422 9




29. T} a9 AAZFE ABCD & A 29 T

°© §\\
Aol7k x, 7k29] o7k y ©]31, DABFE AL~
¢} OGFCH 7} 25 gAtzrgolet. o o, G H
oEGHD ¢] Yol=? (H x<y<2x) \
B F C
@—2x2 + 3xy —y? @ —2x? - 3xy—y?
® 2x? - 3xy —y? @ 2x2 + 3xy —y?

® 2x% + 3xy +»?

~&B ~

o2 T1”lolA Y
(0EGHD] Wo|) = (7}&) x (N 2) - 29;-;,]3 —D
=0-x)2x-y) | H
2 2 1 / G
=2xy —y° - 2x° + xy, Y-z
\ y—x C

:_22 3 2 \
A3y -y B




30.

S 1o A gABEF ¢} oFHGD 7} ZA
79 uf, AH2HY HECG 9] Wolg a, b 9
ek Ao vehd & IFE5H0HH (a -
(ta + sb) oItk 1+ 5 2] & F5HAI L.

> HE I t+s5=1

/

1
b
|

\
\

B

Q==

AtZYY ABFE, EGHD & AAHZtgo|E2
HE=b-(a-b)=2b-a,EC=a-b
g2 A 9] Wole (26 - a)(a - b) ©ltt.

watA r= -1, s=20|2& r+ 5 =1 oJt}.




